Frequently Missed Questions: Perimeter

1. The perimeter of AABC = 54 inches and the perimeter of AAPQ = 18 inches.

AABC~AAPQ. Find a, b, X, y, and osa  Bndb. g
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ind a, b, and c¢ if the perimeter of AMON is 45 inches. All measurements are 1n 1ncln:s

B %c}‘

1A
0 w..“r~-

oo ug“

et

b 5 ot "
la 5 Q,V‘I'VQ%
M p v JazISia
T cmesere =
P 21 in. R .
M
5 \ Fo | c(». et
v N y W o — SR
4" ACL B tr A0 2 (30 r Y- i3 ¢c=)a\
- _n"" - : & -,- = 7? il «\,.. . ""t} (K - 'P.‘/‘q
"*'. - e My = | i"L ag ﬁ'w‘,f A e DN A
: -2 old o S C= LN

& T L sl -
3. Show all work. Romeo is trymg to see his Juliet but the only way to do

so is to climb through her window. Her window is 16.2 feet off the ground.
He knows his 13 foot ladder is too short because it only reaches up 8 feet.
He has an idea to use his 21 foot ladder, but he is unsure if the ladder will
reach. Use the following information to help Romeo see his love:

The two ladders are leaning against a wall such that they make the same
angle with the ground. The 10 foot ladder reaches 8 feet up the wall.

How high does the 21 foot ladder reach? , 3 8 q L 'p il

How much further does the 21 foot ladder reach than the 13 foot
ladder?  4.43 £+
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Qg_irgldter ratio of the larger triangle to the smaller triangle first. -
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5. Show all work. Romeo is trying to see his Juliet but the only way to do ® 30
so is to climb through her window. Her window is 16.2 feet off the ground. ’“;i:“ - 7””‘“
He knows his ¥ foot ladder is too short because it only reaches up 8 feet. O &
He has an idea to use his 21 foot ladder, but he is unsure if the ladder will
reach. Use the following information to help Romeo see his love:

The two ladders are leaning against a wall such that they make the same

wgle with the ground. The 10 foot ladder reaches 8 feet up the wall.

G .
How high does the@foot ladder reach? \1 . \ “\ ? +

How much further does the 21 foot ladder reach than the 13 foot

ladder? q d -Q-&- Cad = ¥

6. The local fire academy is practicing evacuating a hotel. Two teams are going through two
windows. Window one, 12 feet above the ground and the other "z” ft above the ground.
They are using a 30ft ladder to get to the lower window and a 75ft ladder to get to the
higher window. Find the distance between the short ladder and the base of the building (x),
the distance between the two ladders (y) and how far the 2»d window is above the ground.
Keep answer in feet and round to the nearest tenth if needed.
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Frequently Missed Questions: Perimeter

1. The perimeter of AABC = 54 inches and the perimeter of AAPQ = 18 inches.
AABC~AAPQ. Find a, b, X, y, and z.
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Find a, b, and ¢ if the perimeter of AMON is 45 inches. All measurements are in inches.
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3. Show all work. Romeo is trying to see his Juliet but the only way to do
so is to climb through her window. Her window is 16.2 feet off the ground.
He knows his 13 foot ladder is too short because it only reaches up 8 feet.
He has an idea to use his 21 foot ladder, but he is unsure if the ladder will
reach. Use the following information to help Romeo see his love:

The two ladders are leaning against a wall such that they make the same 21ft
angle with the ground. The 10 foot ladder reaches 8 feet up the wall.
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How high does the 21 foot ladder reach? 13ft & fhet

How much further does the 21 foot ladder reach than the 13 foot
ladder?




4. The two triangles below are similar. Find a, b, and ¢ if the perimeter of the small triangle is 21in. Find the
perimeter ratio of the larger triangle to the smaller triangle first.
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5. Show all work. Romeo is trying to see his Juliet but the only way to do
so is to climb through her window. Her window is 16.2 feet off the ground.
He knows his 14 foot ladder is too short because it only reaches up 8 feet.
He has an idea to use his 30 foot ladder, but he is unsure if the ladder will
reach. Use the following information to help Romeo see his love: Wal

301t /
How high does the 30 foot ladder reach?
14t

B feet

How much further does the 30 foot ladder reach than the 14 foot
ladder?

6. The local fire academy is practicing evacuating a hotel. Two teams are going through two
windows. Window one, 12 feet above the ground and the other "z” ft above the ground.
They are using a 30ft ladder to get to the lower window and a 75ft ladder to get to the
higher window. Find the distance between the short ladder and the base of the building (x),
the distance between the two ladders (y) and how far the 2nd window is above the ground.
Keep answer in feet and round to the nearest tenth if needed.
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